


2 * v

) J
ghavl + LV =-— ghavl + kW ghavl + bV + %W” '@VAV@J — i (ddﬂﬂg)
bt -
ij
1 ‘ 2 7 P
LHS = g}J'I Avl—i- (gh 'DM + ?Hgﬂ'l >A$-| p -+ Lu Y ah " = —gh giJ'l +Z <dd .IBg) a™ + (I?VA\WI?A (d‘.ﬂ':g)
ij v

fa}u v Voa Vo b BV .
£297 2V pah *( 5t )’““‘ Lh = (P) ()T H20 a0 et

H

[\DI»—
\‘9
1P
1
X

Fe
|
X

N
X

Ay
+
%
b
<
=)
X
X

7\

S

Q_

N————
.

“
|
| —

N\

QL

IS
D

ad

N

N——
<

w B _ ‘_' .\v "E . o
Yavd' ¥'avd GpaTt ¥ dpal k¥ ——(d“'g)m <d.f_¢g) s, - F

@ gt Ry

ST

dpa + ¥ dpalthW = dbg aT+ kY g a1+ kv

) Lk T aB b it

. . pv
ST B




L (g:A:)



